Year 6 Maths Challenge Cards Pack 2

0, 3, 6, 9... Will 300 be in this sequence?
Why/why not?

77 The answer is 4.5. What is the question?

773, 6, 12, 24... continue this sequence,
which is nearest to 1507

““What is the dg‘ference in temperature
between -16 C and 4 C?

" The answer is 10.6. What is
the question?

tickets was given to charity. How much
was this?

¥ 3/9s of the people who came bought ice-
creams. How much money was collected?

630 people go to a show. Programmes cost £2. 80/ (

Each ticket costs £2.90  Ice creams cost £1.50
Year 6




